FHC Geometry
Second Semester Exam Review

Chapter 7

Are the polygons similar? If they are, write a similarity statement, and give the similarity ratio. If
they are not, explain.
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The polygons are similar. Find the values of the variables.
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Explain why the triangles are similar. Write a similarity statement for each pair.
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Find the values of the variables.

10. 11.

(=]

B5x =25x +371H

17
1

8
0

x| | P

b - &
Y 0
Ax=48

e

10
B X 8x{l@
ki

4
dx =[5

19. Natasha places a mirror on the ground 24 ft from the base

on an oak tree. She walks backward until she can see the top of
the tree in the middle of a mirror. At that point, Natasha’s eyes
are 5.5 ft above the ground, and her feet are 4 ft from the image
in the mirror. Find the height of the oak tree.

4 B2,

pa—

20. On page 370 of your Geometry text, there is a
photo of a sandwich shop. The sandwich shop is 40
ft tall. The sandwich shop is an enlargement of an
actual milk bottle. The scale used in construction
was 5 ft =2 cm. Find the height of the actual milk
bottle.

5 it
T %

DX =60
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Chapter Eight

Find the value of each variable. Leave your answers in simplest radical form.

21. 22, 23.
14
60° 30° s 60°
9 60° 30

a X X

u| 30” 60° i 30°

O\ = Z:qla l"‘\ &)M‘r lqﬁ :7(2%%:,5

&hor - == ——
4513 575
b = y - 288 & 15(%
]
Write the ratios for sin P andcos P.
24. Y r r 25. \ - 12
Q Sin P= | R Sin P= 13
ﬂwﬁ 5 / 2 (8P
C'OS P ~ _/-. = T P 15
PT 20 R 7y e
13 0
Find the value of x. Round your answers to the nearest tenth.
26. % 27. 55 «
Tcu”)% on =1 U525 = %
20 -
L= 115

100 ft

=

e

30. A person standing 30 ft from a flagpole can see the top of the pole at a 35° angle of elevation. Draw a diagram.
The person’s eye level is 5 ft from the ground. Fmd the height of the flagpole to the nearest foot.

Tan b=

e
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Describe each vector as an ordered pair. Give the coordinates to the nearest tenth.

31.

COBZE:L.{.Z

x=57
sin 26 < ff’z
=197

32.

947 - X
CD‘%Z}-/Zj

. = 89.2
B[ * BN YL = %0
48™\_Y

Ly

Write the resultant as an ordered pair, and draw the resultant.

33,

v +<l, T =

<"513

)
-2 4 6X

34. LU, BY #4347 < <1,

35. A boat sailed 12 miles east and 9 miles south.
The trip can be described by the vector (l 2,—9> . Use

distance and direction to describe this vector another
way.

d=1(12-0)* +(-a-0)

-’m +(-)* \ .q
125 12,49
=5

an = ’;qZ 1I5mM1. at 30.9

1364

36. From school, Zac walks 3 blocks north and 2
blocks west to Brenna’s house, and then he walks 5
blocks north and 7 blocks east to Taco Bell.

a. Draw vectors to shoe Zgc’s jo

b. Write a single rule for the vector that goes from
school to Taco Bell.

2,37 +<5,8y < <y

Chapter Nine
Each point is reflected as indicated. Find the coordinates of the images.
iy /" 37.C across the x-axis 38. H across the y-axis
414 e Z
clE T * W%) “5 é I
e 39. G across the line y=x 40. F across the line y=x.
= W (A0 (2,2)
. _ G
12 41. C across the line y=x.
72 -.H
Y | (Z, -3)
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42. Given points T (2,4), A(-3, —4), and B(0, —4), | 43. Find the scale factor for the dilation that maps

draw the triangle and its reflection image over the the solid-line figure onto the dashed-line figure.
V axis. : )
A ! !
f t 1 P i
: t e !
} g } { ; ]
f betetbo L L L ]
| i vl 4 F b4 p——
; = [N
| THREVERN
i NI |
E Nep AL LT T
R \\\ /"; ——t Which is the preimage?
aari EE ‘ SO,fd

Which is the image?

P i 1 by 11
| i i i Fobog
F 1 [ 1 1 PP
[ ; i el T D&Sh-ed
3 - i —
i b P P i IR
N B 1 = T - it
} i i { |
T ]

vvvvvv i IR P} .
[ ENEEEREEE So, what is the scale factor?
i s RN
v 7.

44. Find the image of the triangle with these vertices | 45. Find the image of the triangle with these vertices
for a dilation with center (0, 0) and the given scale for a dilation with center (O, 0) and the given scale

factor. factor.
P(-6,6),0(-3,0), and R (0,-3); Scale factor 2

Pla2,1D), Q(w) ' (o, @ z\) [,1 ) g'(0

P(—lO 5),0(-5. 0) and R(0,5); Scale factor -

.0

1 T T Tl T L T T 7
EEEEE i j Pt i | : ] | ¢ | i
L1 lg — g Ll i '! ! | :;
I T RN NN R ! i
FT 1§ BN v nn ! bt | :

{ I Pt [ P ] P 1
L | 1l ] ::
| i | i Pt | | i
- ! : i LI i i i |
. RS i T
boiof IR | | tob i T
- L L . , ! | | S T T
B ST R VL 4 1 T T4 1 5 i l - : "kl
S R e e B IR S £ 10 S A REEEED 1 ] 6 ! L
! | ! i | ! | | ! bl !
| i | [ b Pl |
[ Pl | a |
A } ) t 1 { +
i | i [ i 3 |
[ i | | | }
i mEEENEEERERREE || ] | i ! I
i || [l P ! i
P | ! i {1 ! ;
] T i I i
et th
Y Y

46. Match the figure on the left with one of the following isometries:
reflections, rotation, translation, glide reflection

PUSH— L $ . PUSH— 1 ,o(/ IV. < Ha2u9g
I TranSlahon S geflechon)
®
G Qutachon)

page 5




47. Find the image of B through a reflection across line / and then a reflection across line m. Describe the

resulting translation.

B

£ m

t]m

Translahon Wi HU
Aistance  pehwen fae

Chapter Ten

48. Find the length of the missing leg of a
right triangle with one leg 6 cm and
hypotenuse 13 cm. Leave your answer in
simplest radical form. 2

L*+x>=13
w2133

X =413%

49. Find the length of the hypotenuse of a
right triangle with legs 8 m and 7 m. Leave
your answer in simplest radical form.

8?..1__72.. :_)(2,

50. Find the area of the shaded region.

51. Find the area of the shaded region.

= 13 >

A% (4)(t

(Frzwnds”

52. Find the area of the parallelogram.
4y
D (-3, 4) T C(3.4

m?% W ‘

S(-4, -4) 5 R4, -4)

A= B
[A=5 wnits™ 7

54. Find the area of the trapezoid. Leave
your answers in simplest radical form.

A 6 B

55. Find the area of the trapezoid. Leave
your answers in simplest radical form.

E 13 F

bi3

—

56. Find the area of the trapezoid. Leave
your answers in simplest radical form.

Q
p4
1S |11
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57. Find the measure of each numbered angle in the
regular polygon with radii and apothem as shown.

\
v~

- e e -

L

58. Find the measure of each numbered angle in the
regular polygon with radii and apothem as shown.

For each pair of similar figures, find the ratio of the perimeters and the ratio of their areas.

59. 60. R0 of Porim .= 3 |6l =2
2] 4 rerten. i
qQ
< \ P kos= e
4 cm B et 'y 4

RatTo of Perim. = §

Roxww of Areos = 38

Find the area of each triangle. Round your answers to the nearest tenth.

62. 63. 64.

12 m 5ft

6.5m 28 in. 32in. 4t

A= Ji_(b5>(|3>6\n '03 A- (n5q> A: (4 n lﬂ5
A= 31. ™) /Aczig‘-!.()ma-s D=9 £\

Find the area of each polygon. Round your answers to the nearest te

7/

65. an equilateral triangle with | 66. a square with radius 17 ft 67. a regular octagon with radius
apothem 5.8 cm 20 in. i
A= Sap . A= 5 &p
L
;—‘2-_(5,‘83(3*”‘(06) z 1(185 (8774
it om* |
_ 4
C,«Og 22-5 = Ze)
Y= 18,5
_ X
&N 21.0°
=71
fLOW%,
5 I e |
Az VT £ )
Az

page 7



68. Find the measure of each are in § C.

d. BD

c. ABD

a DBA =220
b. :Zﬁ 5’40
- 1°
>}
=150

69. Find the length of the
arc. Leave your answer in

terms of 7.
CDE
D

C\}\O
o\

20
length = 3}5@ ke

70. Find the length of
the arc. Leave your
answer in terms of 7.

G

H

FH

7

[g{(q,lh = -'3—3-—6—*21'(3

71. If a dart hits the board at the
right, find the probability that it
will land in region X.

T

290
o ™
57
= 0872

o

A

)

72. If a dart hits the board at the
right, find the probability that it
will land in region Y.

24 in.

24 in.

P =

LZm HEmw
510

= .109

73. Find the circumference and area of a circle with radius 5 cm. Leave your answers in terms of 7.

CzlaxD :

p=55T :m
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Chapter 11

74. Find the lateral area and the surface area of the prism.
7 - T
1°H2 ¢
2
725 =C
(= 19

12 in.

Lateral Area: LA= P h
(a5 L) o)
{570 ™)

Surface Area: & — LA +2.6
BT vty "NZ}

75. Find the lateral area and the surface area of the prism.

15%40°=C
15m
Hm A

lH = CZ
(=29
20m

Lateral Area: LA= p h

(5 rot5)( 25
)

Surface Area: 84 - | A ¢ 215
: |6'ZD>

L
15w t2ls
77. Find the surface area of each cylinder in terms of 7.

—
-

76. Find the surface area of each cylinder in terms of 7.

————— d=7m
Sh= LA +20 N
10 ¢m ‘7ﬂ_‘10 1 2(36%-,)
e . - om + 2491
~—

o o

-r="5ft
5)
\
\

(
I 24 ft -
Sk =(2+5m) (%) + Z(‘ézﬂ“>

()
= MOT + 50 T
2901 +°

78. Find the surface area of a square pyramid with
base length 16 cm and slant height 20 cm.

sps LA +6
() (104) +(1e-11)
=40 250
- 89l cm©

79. Find the surface area of a square pyramid with

base length 10 in. and height 15 in.
5> 115 =02 heS(/E) 0

¢t=250
0 ={280

page 9




80. Find the lateral area of the cone to the nearest

whole number. L —A 1 [ P

(F) zzr)

10m
2m

22 10%=0°

Sl

81. Find the lateral area of the cone to the nearest
whole number.

Lh=5(10)(26 ,75

87 Find the value of the variable

in each figure. in each figure.

83. Find the value of the variable

84. Find the value of the variable
in each figure.

15
Volu:nse = 1500 Volume = 126
V=38h : 7 1200 = é(i a-)04)
1550:5%(!5-/5}« gir="21Tx 1240 AR
1900 = 75 g

[x=?

85. Find the volume of the pyramid.

\=30h

13in.

10 in.

5 mh -13°
h==144

h./m

86. Find the volume of the pyramid.
/' \/:é(qﬂ)(ﬁ(a
36 yd é Y800 g,af 2
400 yd? s
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87. Find the surface area of each sphere. Round
your answers to the nearest tenth.

670‘-: L‘ITT(Z

:'1(”)!760}

2

£ bI5152. m*)

88. Find the surface area of each sphere. Round

your answers to the nearest tenth. 2"
. Sh=d |0

89. Find the volume of each sphere. Round your
answers to the nearest tenth.

D I
’ 40 ¢m

=St
{28082 (o um®)

90. Find the volume of each sphere. Round your
answers to the nearest tenth.

(Rry Vi

v fﬁtrr(“g3

3
= 7238.Z M

91. The figures in each pair are similar. Use the
given information to find the similarity ratio of the
smaller figure to the larger figure.

92. The figures in each pair are similar. Use the
given information to find the similarity ratio of the
smaller figure to the larger figure.

! E
S.A. = 49 cm? S.A. = 81 cm? V= 125in° V = 512in°
| 449 25
Mrea rofio = o Volume £afid = o7
= —
oo {T] z
on. simM Kl = g
Chapter 12
In each diagram, a polygon circumscribes a circle. Find the perimeter of each polygon.
923. 94,
dg Pedrdr3r345+5 o Pt +5+5+3+2
4 cm ‘ L
5 X 412/”’"—\) ,z AR g; _Z_g (") l
3an / )
=5 (m—] 3 ] f% 6

page 11




Find the radius.

Q3.
A

%,

A—"8B
52 25=1= Szj;:z:rz 252571
2
1q-1* 45 == 10.23 =1
(r=13 F+ r={42 %, /YJ]
Find the value of x to the nearest tenth.
98. 99. 100.
” 6 \/
2z -z :
X475 o3 [i=3 )
+== 9 | %7,55-

% =215 ;Eﬁ

Write an equation for each circle with the given center that passes through the given point.

101. center (5,9); point(2,9)
(2 ’5>L+(°‘l 4= <
(,5>1 - &
=9

(v-8)H(4-9) =9

102. center (—4,-3); point(2,2)
(Z+4>z+(L +3>Z = &
b* 5T =0
ol

103. center (7,-2) ; point(~1,-6) |
(4D (=
()" r ()=
r==§0

1A
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Find the value of each variable.

104 105. 106. _
90° X° y
R
170° \§b W %
X=45" © X< |20
=180
3:50 . X<l 3/:[0/0
2=8D 7 =140
107. 108. 109.
220° | ’
@ ‘ o @110°
1 0
y=20 K = Z(QO’@} X=bHH
g =357
110. 111 112.
\’9 A
: S
L [N
X:L(%g%> 2y =1 8*103(121—\1—0)(
‘=7 (10 o0 dui-0r,
xE-24%+80 =0

X0 x:4)
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